

Some remarks on orthogonal polynomials

OVIDIU T. POP

ABSTRACT. In this article we demonstrate some general results, from which, through particularities, we obtain identities satisfied by Legendre's, Laguerre's and Hemite's polynomials.

For $k \in \mathbb{N}$, let $\mathbb{P}_k$ be the set of the polynomials of real coefficients, with maximum degree k .

Theorem 1. *Let the weight function $w : [a, b] \rightarrow \mathbb{R}^*$, $w \in C[a, b]$ and $k \in \mathbb{N}$. The function $\varphi_{k+1} : [a, b] \rightarrow \mathbb{R}$, $\varphi_{k+1} \in C[a, b]$ satisfies in report with the function w the orthogonality condition*

$$\int_a^b w(x) \varphi_{k+1}(x) p(x) dx = 0, \quad \forall p \in \mathbb{P}_k \quad (1)$$

if and only if there exists a function $u : [a, b] \rightarrow \mathbb{R}$, $k + 1$ times derivable on $[a, b]$, which verifies the conditions

$$u^{(k+1)}(x) = w(x) \varphi_{k+1}(x), \quad \forall x \in [a, b] \quad (2)$$

and

$$u^{(i)}(a) = u^{(i)}(b) = 0, \quad \forall i \in \{0, 1, \dots, k\}. \quad (3)$$

Proof. It can be found in [1] or [3]. $\square$

Theorem 2. *Let the weight function $w : [a, b] \rightarrow \mathbb{R}_+^*$, $w \in C[a, b]$, $n \in \mathbb{N}$, $u_n, \varphi_n : [a, b] \rightarrow \mathbb{R}$, u_n , n times derivable on $[a, b]$, $\varphi_n \in C[a, b]$, so*

$$\int_a^b w(x) \varphi_n(x) p(x) dx = 0, \quad \forall p \in \mathbb{P}_{n-1}, \quad (4)$$

$$u_n^{(n)}(x) = w(x) \varphi_n(x), \quad \forall x \in [a, b], \quad (5)$$

$$u_n^{(i)}(a) = u_n^{(i)}(b) = 0, \quad \forall i \in \{0, 1, \dots, n-1\} \quad (6)$$

and

$$\varphi_n \in \mathbb{P}_n, \quad \varphi_n(x) = a_n x^n + b_n x^{n-1} + \dots, \quad a_n \neq 0. \quad (7)$$

Received: 07.09.2003; In revised form: 25.10.2003
Key words and phrases. *Orthogonal polynomials, identity.*

Then

$$\int_a^b w(x) \varphi_n(x) \varphi_m(x) dx = \begin{cases} 0, & m \neq n \\ (-1)^n n! a_n \int_a^b u_n(x) dx, & m = n \end{cases} \quad (8)$$

and

$$\int_a^b w(x) \tilde{\varphi}_n(x) \tilde{\varphi}_m(x) dx = \begin{cases} 0, & m \neq n \\ \frac{(-1)^n n! \int_a^b u_n(x) dx}{a_n}, & m = n. \end{cases} \quad (9)$$

Proof. If $m \neq n$, taking (4) and (7) into account it results that $\int_a^b w(x) \varphi_n(x) \varphi_m(x) dx = 0$. If $m = n$ we have $\|\varphi_n\|^2 = \int_a^b w(x) \varphi_n^2(x) dx = \int_a^b w(x) \varphi_n(x) \varphi_n(x) dx$ and taking (5) into account we obtain $\|\varphi_n\|^2 = \int_a^b u_n^{(n)}(x) \varphi_n(x) dx$. Integrating through parts and considering (6), we have

$$\begin{aligned} \|\varphi_n\|^2 &= u_n^{(n-1)}(x) \varphi_n(x) \Big|_a^b - \int_a^b u_n^{(n-1)}(x) \varphi_n'(x) dx = \\ &= - \int_a^b u_n^{(n-1)}(x) \varphi_n'(x) dx = \dots = (-1)^n \int_a^b u_n(x) \varphi_n^{(n)}(x) dx. \end{aligned}$$

According to (7), we obtain $\|\varphi_n\|^2 = (-1)^n n! a_n \int_a^b u_n(x) dx$, so (8) takes place. Because $\tilde{\varphi}_n(x) = \frac{1}{a_n} \varphi_n(x)$, from (8) we obtain (9). $\square$

Theorem 3. Let $\{p_n, n \in \mathbb{N}\}$ be a set of orthogonal polynomials and $p_n(x) = a_n x^n + b_n x^{n-1} + \dots$, $a_n \neq 0$. Then

$$\begin{aligned} \frac{a_n}{a_{n+1}} p_{n+1}(x) &= \\ &= \left(\frac{b_{n+1}}{a_{n+1}} - \frac{b_n}{a_n} + x \right) p_n(x) - \frac{a_{n-1}}{a_n} \left(\frac{\|p_n\|}{\|p_{n-1}\|} \right)^2 p_{n-1}(x) \end{aligned} \quad (10)$$

and

$$\tilde{p}_{n+1}(x) = (b'_{n+1} - b'_n + x) \tilde{p}_n(x) - \left(\frac{\|\tilde{p}_n\|}{\|\tilde{p}_{n-1}\|} \right)^2 \tilde{p}_{n-1}(x), \quad (11)$$

where $b'_n = \frac{b_n}{a_n}$.

Proof. It can be found in [1] or [3]. $\square$

Theorem 4. In the conditions of Theorem 1 we have that

$$\frac{a_n}{a_{n+1}} \varphi_{n+1}(x) = \left(\frac{b_{n+1}}{a_{n+1}} - \frac{b_n}{a_n} + x \right) \varphi_n(x) + n \frac{\int_a^b u_n(x) dx}{\int_a^b u_{n-1}(x) dx} \varphi_{n-1}(x) \quad (12)$$

and

$$\tilde{\varphi}_{n+1}(x) = (b'_{n+1} - b'_n + x)\tilde{\varphi}_n(x) + n \frac{a_{n-1}}{a_n} \frac{\int_a^b u_n(x)dx}{\int_a^b u_{n-1}(x)dx} \tilde{\varphi}_{n-1}(x) \quad (13)$$

Proof. We use Theorem 2 and Theorem 3. $\square$

Next, by using Theorem 2 and Theorem 4, we will give some applications.

Application 1. We consider $w, u_n, \varphi_n : [-1, 1] \rightarrow \mathbb{R}$, $a = -1$, $b = 1$, $w(x) = 1$, $u_n(x) = (x^2 - 1)^n$, $\varphi_n(x) = [(x^2 - 1)^n]^{(n)}$, so we obtain Legendre's polynomials. Because $\varphi_n(x) = \frac{(2n)!}{n!} x^n + 0 \cdot x^{n-1} + \dots$ and $\int_{-1}^1 u_n(x)dx = (-1)^n \frac{(n!)^2}{(2n+1)!} 2^{2n+1}$, then $\tilde{l}_n(x) = \frac{n!}{(2n)!} \varphi_n(x)$ and defining $l_n(x) = \varphi_n(x)$, we have

$$\int_{-1}^1 l_n(x) l_m(x) dx = \begin{cases} 0, & m \neq n \\ \frac{(n!)^2}{2n+1} 2^{2n+1}, & m = n, \end{cases} \quad (14)$$

$$\int_{-1}^1 \tilde{l}_n(x) \tilde{l}_m(x) dx = \begin{cases} 0, & m \neq n \\ \frac{(n!)^4 \cdot 2^{2n+1}}{[(2n)!]^2 (2n+1)}, & m = n, \end{cases} \quad (15)$$

$$l_{n+1}(x) = 2(2n+1)x l_n(x) - 4n^2 l_{n-1}(x) \quad (16)$$

and

$$\tilde{l}_{n+1}(x) = x \tilde{l}_n(x) - \frac{n^2}{(2n-1)(2n+1)} \tilde{l}_{n-1}(x). \quad (17)$$

Application 2. We consider $w(x) = e^{-x}$, $u_n(x) = e^{-x} x^n$, $a = 0$, $b = \infty$. Then $\varphi_n(x) = g_n(x) = e^x (e^{-x} x^n)^{(n)}$, so we obtain Laguerre's polynomials. Because $g_n(x) = (-1)^n x^n + (-1)^{n-1} n x^{n-1} + \dots$ and $\int_0^\infty u_n(x) dx = n!$, then $\tilde{g}_n(x) = (-1)^n g_n(x)$ and

$$\int_0^\infty e^{-x} g_n(x) g_m(x) dx = \begin{cases} 0, & m \neq n \\ (n!)^2, & m = n \end{cases}, \quad (18)$$

$$\int_0^\infty e^{-x} \tilde{g}_n(x) \tilde{g}_m(x) dx = \begin{cases} 0, & m \neq n \\ (n!)^2, & m = n \end{cases}, \quad (19)$$

$$g_{n+1}(x) = (2n+1-x)g_n(x) - n^2 g_{n-1}(x) \quad (20)$$

and

$$\tilde{g}_{n+1}(x) = (x - 2n - 1)\tilde{g}_n(x) - n^2\tilde{g}_{n-1}(x). \quad (21)$$

Application 3. We consider $w(x) = e^{-x^2}$, $u_n(x) = u(x) = e^{-x^2}$, $h_n^*(x) = u^{(n)}(x)e^{x^2}$, $a = -\infty$, $b = \infty$, so we obtain a Hermite type polynomials, $h_n(x) = (-1)^n h_n^*(x)$. Because $h_n^*(x) = e^{x^2}(e^{-x^2})^{(n)} = (-1)^n 2^n x^n + 0 \cdot x^{n-1} + \dots$ and $\int_{-\infty}^{\infty} u_n(x)dx = \sqrt{\pi}$, then $\tilde{h}_n^*(x) = \frac{1}{(-1)^n 2^n} h_n^*(x)$ and

$$\int_{-\infty}^{\infty} e^{-x^2} h_n^*(x) h_m^*(x) dx = \begin{cases} 0, & m \neq n \\ 2^n n! \sqrt{\pi}, & m = n \end{cases}, \quad (22)$$

$$\int_{-\infty}^{\infty} e^{-x^2} \tilde{h}_n^*(x) \tilde{h}_m^*(x) dx = \begin{cases} 0, & m \neq n \\ \frac{n! \sqrt{\pi}}{2^n}, & m = n \end{cases}, \quad (23)$$

$$\int_{-\infty}^{\infty} e^{-x^2} h_n(x) h_m(x) dx = \begin{cases} 0, & m \neq 0 \\ 2^n n! \sqrt{\pi}, & m = n \end{cases}, \quad (24)$$

$$\int_{-\infty}^{\infty} e^{-x^2} \tilde{h}_n(x) \tilde{h}_m(x) dx = \begin{cases} 0, & m \neq n \\ \frac{n! \sqrt{\pi}}{2^n}, & m = n \end{cases}, \quad (25)$$

$$h_{n+1}^*(x) = -2x h_n^*(x) - 2n h_{n-1}^*(x), \quad (26)$$

$$\tilde{h}_{n+1}^*(x) = x \tilde{h}_n^*(x) - \frac{1}{2} n \tilde{h}_{n-1}^*(x), \quad (27)$$

$$h_{n+1}(x) = 2x h_n(x) - 2n h_{n-1}(x) \quad (28)$$

and

$$\tilde{h}_{n+1}(x) = -x \tilde{h}_n(x) - \frac{1}{2} n \tilde{h}_{n-1}(x). \quad (29)$$

The readers can find appropriate applications of the next theorem.

Theorem 5. Let the weight function be $w : [a, b] \rightarrow \mathbb{R}_+^*$, $w \in C[a, b]$, $n \in \mathbb{N}$, $\varphi_n : [a, b] \rightarrow \mathbb{R}$, $\varphi_n \in C[a, b]$ and there exists $v : [a, b] \rightarrow \mathbb{R}$, $2n$ times derivable on $[a, b]$, so

$$v^{(i)}(a) = 0, \quad i \in \{1, 2, \dots, 2n-1\}, \quad (30)$$

$$v^{(2n)}(x) = w(x), \quad \forall x \in [a, b], \quad (31)$$

$$\int_a^b w(x) \varphi_n(x) p(x) dx = 0, \quad \forall p \in \mathbb{P}_{n-1} \quad (32)$$

and

$$\varphi_n \in \mathbb{P}_n, \quad \varphi_n(x) = a_n x^n + b_n x^{n-1} + \dots, \quad a_n \neq 0. \quad (33)$$

Let us prove that

$$\begin{aligned} \int_a^b w(x) \varphi_n(x) \varphi_m(x) dx &= \\ &= \begin{cases} 0, & m \neq n \\ \sum_{k=1}^{2n} (-1)^{k-1} v^{2n-k}(b) (\varphi_n^2)^{(k-1)}(b) + (2n)! a_n^2 \int_a^b v(x) dx, & m = n \end{cases} \end{aligned} \quad (34)$$

and

$$\begin{aligned} \int_a^b w(x) \tilde{\varphi}_n(x) \tilde{\varphi}_m(x) dx &= \\ &= \begin{cases} 0, & m \neq n \\ \frac{1}{a_n} \sum_{k=1}^{2n} (-1)^{k-1} v^{2n-k}(b) (\varphi_n^2)^{(k-1)}(b) + (2n)! a_n \int_a^b v(x) dx, & m = n. \end{cases} \end{aligned} \quad (35)$$

Proof. We have that

$$\begin{aligned} \|\varphi_n\|^2 &= \int_a^b w(x) \varphi_n^2(x) dx = \int_a^b v^{(2n)}(x) \varphi_n^2(x) dx = \\ &= v^{(2n-1)}(x) (\varphi_n^2)(x) \Big|_a^b - \int_a^b v^{(2n-1)}(x) (\varphi_n^2)'(x) dx = \\ &= v^{(2n-1)}(b) (\varphi_n^2)(b) - v^{(2n-2)}(x) (\varphi_n^2)'(x) \Big|_a^b + \\ &+ \int_a^b v^{(2n-2)}(x) (\varphi_n^2)''(x) dx = \dots = \\ &= \sum_{k=1}^{2n} (-1)^{k-1} v^{(2n-k)}(b) (\varphi_n^2)^{(k-1)}(b) + \int_a^b v(x) (\varphi_n^2)^{(2n)}(x) dx = \\ &= \sum_{k=1}^{2n} (-1)^{k-1} v^{(2n-k)}(b) (\varphi_n^2)^{(k-1)}(b) + (2n)! a_n^2 \int_a^b v(x) dx, \end{aligned}$$

the equality from (34) for $m = n$. If $m \neq n$, we use (32) and (33). Because $\tilde{\varphi}_n(x) = \frac{1}{a_n} \varphi_n(x)$, from (34), (35) results. $\square$

Observation. The function v with the properties in Theorem 5 can be obtained, for example, integrating the function w on $[a, x]$ $2n$ -times.

REFERENCES

- [1] Coman Gh., *Analiză numerică*, Editura Libris, Cluj-Napoca, 1995
- [2] Stancu D.D., *Curs și culegere de probleme de analiză numerică, I*, Univ. "Babeș-Bolyai" Cluj-Napoca, Facultatea de Matematică, Cluj-Napoca, 1977
- [3] Stancu D.D., Coman Gh., Agratini O., Trîmbițaș R., *Analiză numerică și teoria aproximării, I*, Presa Universitară Clujeană, Cluj-Napoca, 2001

COLEGIUL NAȚIONAL "MIHAI EMINESCU"
MIHAI EMINESCU 5, 440014 SATU MARE
ROMANIA
E-mail address: ovidiutiberiu@yahoo.com